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PART - | / 19 - |
AND PEDAGOGY / 9191 a1 9 fiamemsy

ﬁn’r’:mrfug questions (Q, Nos. 1 to 30) by selecting the correct/most appropriate Options

5l (3. 5= 1 7 30) % I 37 % [o70 WEl/AEAE ITYH [aHey AT/

Dyslexia is a

CHILD DEVELOFMENT
Direction Answer the

ﬁﬁ?:ﬁlﬁﬁﬁaﬁ-

3

— condition which impacts learner’s ability to
al, socialize with peers

coordinate body movements
(3)  emotional, draw pictures

(4) neurological, link sounds with symbols

HIS A Fediforemn v feerfer & <1 foremelf =1
(1) i, wferdi 3 oo BILIEIEy

(2) Hadt, s Tl 3w

) e, s e

(4) #ﬁﬂa{“{r‘mﬁm, wﬁﬁﬁmﬁﬁ%%mﬁﬁ@%

(1)  physiolo gic
(2)  sensory,

%I &HA ] I F S

2. Assertion (A) :

Learning from real-life problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.
Reason (R) :

Development is relatively orderly and sequential,
Choose the correct option :

(1)  (A) is true but (R) is false,
(2) Both (A) and (R) are false,
(3) Both (A) and (R) are true and

SHIUT (R) :

fom sTeTga wrafean i smpmf ¥

HE ooy 94 | |

S (A) T § @l (R) o R M

(2)  (A) = (R) Eri e %) |

(3) IA)W(R}ﬂ*ﬁ%’rﬁaﬁm}aﬁm}gﬁwmgl _
(4) {ﬂ]m[ﬁ}ﬁ“ﬁ%ﬁﬁﬁ{A}ﬁ(R}yﬁtmqﬂm_il
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3. : s . . i se.ﬂi”ﬂ“-I
Asking Critical questions such as “how much and in what ways are various gender 1€ Prf':

textbooks and media” would encourage *
couraging gunder role flexibility

(1) Reinforcing gender identity (2). Dis
b constancy

gk
l:i'l-:l Strengthening gender

(3) Questir_ming geruier stereotypes
iy <+ e i 3 e Sk o TR Immmaﬁﬁﬁmﬁmg
go § fpge dieared faem ? *1
(1) Sfet Tear Hl HoEd F hf?@lﬁ%{ﬁﬂﬂﬁmﬁimﬁ
c{g) Sfe wfedl W HaE 3SH (iy_;é Sret froran w1 HorEd HCT

o

4. Assertion (A) :
goals, pedagngical strategies as

In an inclusive classroom, adaptations should be made in learning

well as assessment.

Reason (R) :
The PhilﬂSUPh}' of inclusion advocates e]jﬂiﬁﬁan of all individual differences through ped agﬂgical
approaches and assessment. e
Choose the correct option : =.=-:=
(1) (A)is true but (R) is false. ‘é;
(2) Both (A) and (R) are false. %)
js=the correct explanation of (A)

Both (A) and (R) are true and (R)

(3)
Both (A) and (R) are true but (R) ié

(4)
sfaaRed (A) :
wuwﬁsﬁwﬂ,;ﬂuﬁﬁs

{ the correct explanation of (A).
e, o TOTRE 3 Ee- e S ST e S e

=10l (R)
Wwﬁaﬁmmﬁﬂmmaﬁm
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aﬂﬁﬁf‘ﬁ{maﬁ{maﬁwﬁmm
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5. A teagher notices that o of her ‘shadents 1 hjghl}' distractible and has l:n;mlubl{s !}nf}'lﬂﬁ a[-wn:Lnn
during elass. Which of the fu!]-:.rwi.-r;g\fsi‘rah.‘giﬂﬁ wounld i an effectve strategy m helping twe student
stay focused 7 ™

(1) Giving a timer to student IuLp';ﬂ_;[-feEulE.Lir.'ln and time-management.

(2) Calling the parents and takingystrict disciplinary action against the student.

(3) Giving the student repeated E‘lﬁ; o do during class.

(4) Strictly telling the student o mcrease their attention span. e
s ok 3 i e e s wa s ffem § 3 30w F IR S H sl we
?i ﬁﬂﬁ'lﬁ'ﬁﬁﬁﬁﬁ?#rtﬂfrﬁ!mﬂﬁfaﬂﬁﬁﬁqﬁﬁﬁ% e TR WS T w2

(1) =P iR SE-yas & fou o & 2o |

(2) =wEn-To =1 R 2 & fEens Ba STETTEE R

(3) B W & o g-an w F e e i

(4] BRI UG W S SE9E SE 599 & e

Fd

6.  Assertion (A : 7

Teachers should constantly Iﬁ}.ﬂi‘lg"}hﬁl’ own stereotypes and bias.
Reason (R]

Culturally responsive teaching meafd that teachers are reflective.
oose the correct option :
Ek; (A) is truebut[}{Fl,iI;E: fatoes D
(2) Both (A) and (R) are false, ©
(3) Both (A) and (R) are true and R} is the correct explanation of (A),
(4) Bath (A) and (R) are true buf {R) is not the correct explanation of (A).
APaERET (A)
Torererl = T =T ¥ & wleenfaen o il v o e e
BHITOT (R) :
Hirwom w0 A I g w1 @ & G e s g
wEr fowes =51
(1) (A) & e (r) e 8y )
(21 (A) 3 (R) EHT em &
3F (A) ST (R) EF T ¥ ST (A) SIR) T wvE e
(3) (A} 3 (R) =1 551 & S0 (A) ) (R) 7 =vm 4 ey &1

L M
7. Which of the followi ial §
enu;:mm'lenn I:aﬁdiﬁngif rﬁ;ﬁ::ﬁlﬂ ha:vu; ool i i e
() Forgetting (2} Rotriekd  (3)  Asersic 4 De
Fr=tared 4 & # + whma o a. AR - - gy
v 1) Y ﬁﬂﬁ—ﬁﬂfﬂm!ﬂ?&ﬁﬂmw w1 ¥ fom
(1) s () sife B oEmE 4) e
et AT TR T 4
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10.

In which stage of K ; . -
e - Ghll:'”?- &-maoral dﬁ'-:iﬂuﬁm.'nl: do children’s roasoning revolve around ethics ol

(1)  Heteronomous morality ﬁfﬁ" Autonomous morality
(3)  Pre-conventional morality {.j.]. ConvenHonal morality
Freera ¥ 3 TR %1 Fen s § et @ T A F A § - %7
(1) Towm Ao {;:' e e
9 T rifte Afea ) e Ao

Which of the following is a core principle of constructivist learning, theory 7

(1) Students construct their own knowledge
(2) Leamning is prlumrilf A passive process that invalves receiving and miemorizing informa Hion.

(3) Teachers should provide direct instruttion and explicit guidance to students,

(4) Learning occurs when students req:mve correct answers and feedback from teachers.

o 1 i 1 e e R 1 e e €7
ﬁmmw#wmwﬁﬁmﬁmmmmma
ﬁwwﬁﬁwﬁfﬁﬂmfﬁ!ﬂ T W S G T W
ot 35 o e e ol A T A A

(L)
(2)

()
>2 stfir 7= e & @ @ w1 TR H w S a7 wfergfu foedt €1
According to Vygotsky, what is the role of the teacher in facilitating cognitive development 7

1y To allow the student o learn independently.
(1 | wmgj!l;l}' .
To give only those tasks that the E?uil;nt can currently do independently.

{2)

(3) To provide information and knowleflge to the student.

(4) To guide and support the Emdmt'mmg through scaffolding.
wﬁ?ﬁﬂﬂcm;ﬂmﬂmﬁmmﬂ 1 forers %1 a1 yiE &7
o8 wﬁgﬂm#ﬁ#ﬂmﬂﬁmﬁmhl

@) mﬂmaﬁﬂmiﬁﬁﬂ]ﬁ AT T W AW TN

(3) oy 7 e 3 A e

5 0

prt (TP ORI

through achve engagement with their envirenment,




11. Which of the following does not exemplify an inclusive classroom f

(1) Offering differentiated instruction

(2)  Emcouraging competitive ethos

(3) lﬂl!“l'l?l"lﬂ.‘ll‘:nn of diverse }'u:mi"r_ﬁlg‘tiv'l:‘ri
(4) F‘-?'uﬂ'ﬁ'inj.', reasonable accommatdation

fFreafifom § & i v grmelt s e T €7

(1) it Fdm 2
) whrend s ) v e
(3) fafas gfewmi = ;'fi
(4) a9 AET = e L)

12. rLl"Ln elementary school teacher can strongly influence students’ development of academic sell-concept
W :
(1) Rewarding autonomy and initiative in students
(2) Keeping very low expectations from special students.
(3) Keeping very low expertaﬁm-!a;h;lm all studenits
(4) Punishing autonomy and inibiatye m students
s i Faamer = T wre o Sufoer s HeeE & e @l el | FMIET B OHE
() e St e g e
(2) fad il @ wEa T
(3) it e & g A aﬂwt%
(4) BT Tl S HEet ) S e

13. According to Lev-Vygotsky children benefit from the experience of interacting with

while working their zone of proximal development,
(1) the physical environment; within
(2) the physical environment; just outside

(3) more knowledgeable others; withi _
(4] more knowledgeable others; ju outside

AT A AR ST S & ST W T € A e
<t o wrRtaE e F A, #

(1) i = S %
- = ‘I w
J2y ifir A A )

(3)  =PTF WA 3 AT o)
(4) sifirF SRR 3, WH AR
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14.

15.

16.

R

Assertion (A) @

There is no objectively definable moment when a child enters middle child
Reason (R) :

Development is continuous in nature.

Hood or adolescence.

Choose the correct option.

(1} (A) is true but (R) is false.

(2) Both (A) and (R) are false,

(3) Both (A) and (R) are true and (R) is the correct explanation of 1A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
s (A) : ia
gE 3 yane s A ATOT ST e e T e WA ey oy R W A
=R (R) :

o, wta # o o/ T ¥

[ e T |

(1) (A) =@ # T (R) 7o B

@) (A) 2 (R) ZH TG 2

3)  (A) Sl (R) 26 = ¥ i (A) F (R) T S0 w5

(4)  (A) 3T (R) SHT T E A (A) F(R) T AT el i £

i

-

In a progressive classroom assessment Is ;

(1) Summative (2) Normative

(3) Dynamic {4y  Objective

o WA o AT

(1) T AR (2) A HelWE
(3) it e € Ay s b

Irt order to address the individual differences among learners, n teacher should :

(1) consider differences as obvious feature of human diversity

(2) implement a rigid and uniform curriculum for all learners

(3) - acknowledge differences a3 abnormal and kind of deficit

(4) be indifferent towards individual differences

fopenfeai 3 =94 =T Rl = wEITE T o o e
(1) Firsparaii 1 WA Pt 2 Fee fed & w5 A " e

(2) i ferefe] ¥ g T e T TR w0 A
(3) mﬁﬁmmﬁmﬂm#ﬁﬂmmmﬁq
e e FomrTai] ) - S O wifey
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17.  Alok shows the following behaviours : Holds head in an awkward position when reading; squinting

zfl"ﬂ mhhﬂ? the eye frequently; redness/swelling of eyes; confusing letters. These can be symptoms

(1) Autistic spectrum disorder (2) Communication disorder

(3)  Visual problems (4) Language comprehension problems
mmwmi:mmﬁtﬁmﬁlﬂrﬂw;mﬁm—mmm
T, Sl W e e, sa T A afte 5T B it e e €2

(1) it foem (2) WA He o

A%) = Haf wrent | (4) 9T T Y

18. %i:hnfmnfﬂﬂmwhgdmﬂ:mamqr-ﬂﬂ_mﬂmﬁﬂm?
(1) focus on achieving a high grade for receiving external rewards.
(2) focus on avoiding failure or punishment for fear of humiliatior:.
(4)  focus on improving ones’ skills and understanding of  task.
et # 3 1 1 0 e wiea st e
(2)  HT % B R S A A Y
(3) AT % T e w9

i
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20,

Assertion (A) :

Students are more likely to do well and stay in school if they have
school and believe that they matter €

Reason (R) : 1

Emotions play a significant rale in learning.

Choose the correct opton ;

(1)  (A) is true but (R) is false.

{(2) Both (A) and (R) are false,

(3) Baoth (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

HUHET (A) ¢
Hﬁ#ﬁmﬁﬁ#ﬁﬁ“ﬁﬂﬁrﬁﬁmﬁmiﬂﬁmmﬁﬁ#mw?
R A W ¥ F 37 59 T T R

FHAT (R) :

sreremd it o wgergel vifaeR frmE

e e 51 |

(1) {(A) =6 & 2T (R) TR R

emotional attachment o their

A (A) 2R (R) & T

@) (A) = (R) S HE F Sl (A) F(R) TE S
(4) [A}aﬂuﬂ;ﬁﬂﬁfﬁﬁﬁ{qaﬂ{mﬂﬁrﬂmﬂﬁmtl

Which of the following best describes the role of the teacher in progressive education ?

(1) The teacher is responsible for ensuring strict adherence to curriculum standards.

(2)  The teacher lets the children learn independently and does not interfere in their learning,

(3) The teacher is the primary source of knowledge and authority in the classroom.

(4) The teacher provides diverse materials for children to experiment and provides scaffolding
as and when required.

Srcifefian § 4w Wi e A e 1w e 7= T A

(1) forarss T ] e B e g w5 fee e

(2) Fovers =it o T W A HEA TE st s HiEa o v T e

(3)  forr st 3 i sfte iR Wi AE

(3 b st et s i 5 T, PP Tl ST AT @ ST ST W W S S S

ti

Which of the fallowing characterise the process of socialization ?

(a) [Itis a linear process, (b} It is a complex process,

(¢} Itis a multidimensional process. (d) It takes place uniquely in different cultures,
(1) (b, (€} (d) (2) (o) (B () () () (a) (D) (4 W)

1 B R ) EREER ) uiwar i e § 2
f‘; a) e e W (b) E we wfze whEm &

() 98w agsm yEA ) () R Fafi sl o Rt ww @ o &
(M o) () (ah®) e d B (a) () (4) (b} (o)

peit (ORI 9 O




23. ";'r}“fh Of the following statements about adolescence is not correct ?
(1) Hlilﬂldeact‘.rme is developmental transition between childhood and adulthood entailing physica),
rogritive and psychosocial changes.
[2} CI-'IJ-.I.I‘.'I]'E“ across different cultures usher inand EHPET:I:EEIIE adolescence in a similar Matner,
(3)  Adolescence is a social construction.
(4) Mﬂfﬂmhﬂm&mﬂymﬂﬂ;:ﬂhhﬂn&ﬁ&pﬂhﬂw-mwﬂﬂtmmmﬂ
maturity and the ability to reproduce.

mﬁﬁﬁmﬁﬂmmmﬂﬁﬁ??

(1) mm:;w o s o it P S fared oo, ST oI T
T I

(2) T wtemfidl & = vw s ais & fevimen 3 v S0 € o T apE =0 2

(4)  Porloereen 39 s vt e = v e i for s - 7 e ) i A R
3T TTeea W a = i @ o &

24, Work in pm Portfolios are an effective tool for formative asses '

(3)  They invalve stadents in the process of assessment.

() They offer msights about the progress of individual students,
1.5_{3'.13'_. {ij, ey
T e

¥ =y
= ST o

e



26.

27.

28.

@ aﬁmblebemmum'
':(EJ ﬂ@mmmbym&ﬂldrmmmbmgmdpasﬂvely&ammemmmt

21;;*; np;:?s::ﬁﬁ E;Lﬁzr;}' llsn the dance competition only because she is interested in winning the

(1) Mastery-Oriented learner (2) Failure-avoiding learner

(3) Intrinsically motivated (4) Extrinsically motivated

?maawﬁﬁﬁmﬁﬁﬁﬁmmﬁ mﬁﬁ%%ﬂmmﬁmwﬁﬁﬁﬂﬁmﬂ
I

(1) wera 3@ e & forenefi # 1
(3) it w9 3@ §) (4) %ﬂﬁﬁ‘)ﬁﬂil

Which of the following is an example of a question thaf"?ﬂquuea students to analyze information ?
(1) How does the author use symbolism in “To Kill'a*Mockingbird”?

(2) Who is the protagonist of “To Kill a Mockingbird”?

(3) What is the plot of the novel “To Kill a Mockingbird” ?

(4) Whatis the theme of the novel “To Kill a Mockingbird”?

frefeafiaa § 9 %4 91 UH 09 A 1 ST & R o F S o e w1 SrEvEEa gl
L4 0

(1) “zfEE q'ﬁﬁmﬁ**ﬁm'm%mﬁmgr

(2) ‘'z fEe v HiEEE " A S § 2 ¢

() ‘g e v b T s w82 OO0

(4) ‘'3 fFw AT ST 1 s g i_ﬂ :

Irpds) e 3 fardl e :'ﬁ

Jean Plaget he]:aeved that icmwledga is:

ucted in mmmﬁ;&: more: knawhdgeaﬂentlmm.
ge that can hé‘mmmﬁwi&l reliability.
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29,

30.

of Kohlberg's theory of moral deve
e

IL]PmL‘m j,,

The “entral argument of Carol Gilligan's eritiq
around -

(1) Usgp of experimental LIE‘EiﬁI] in 5'.“'_]}.-1“?_; dﬁldl‘ﬂ'l’:- e

{2_} E'—.!Lh_‘al_iunﬂ] imPIi{fﬂﬁ.Uﬂs of the 5'.11{1}' f{'ll' 5&]1_{'_]{'_1 gﬂ' B

(3)

) Overestimation of children’s moral abilities.

et R o0 e T
& e farm 3 fogi 31 mﬁmﬁmﬁﬂw

() == & somm F yrifives vy womsh 1 T I

(2) %ﬁﬁﬁaﬁaﬁ#mmmﬁ%ﬁf%ﬁs_ﬁmﬁl

() TEIE F e i e g O

Ethics of care and the feminist perspective._

Assertion (A) :

The less able 3 child is to do a task the more directions the teachers should give and as the child can
do more and more the teacher should help IEEELI}EI less,

Reason (R) : i:_'ij
Intelligence cannot be accurately measured byf{id}ulaﬁng 10,
Choose the carrect option, o)
(1) (A) is true but (R) is false. £
(2)  Both (A) and (R) are false. 5,

(3)  Both (A) and (R) are true and (R) is the ‘C}ject explariation of (A),
(4)  Both (A) and (R) are true but (R) is not the"Correct explanation of (A).
AFTFHST (A)

wmwmﬁmﬁﬁmmwmﬁmaﬁwaama—u%mamaﬁmﬁ
S-S = Ay | aﬁmmm;%,-,ﬁlﬁaﬂmﬁmqmma—m|

/T (R) ;
Waﬂﬁ-ﬁﬁ:aﬂmmﬁfmm.ﬂﬁ%mh
W faswed 97 | O

(1) (A)F& & @ (R) e E | %

(2) (A) 3 (R) B 7o & |

. =
(3) (A) T (R) Erl WE & S (A) 1 (R) wel =
'fﬁl (A) 3 (R) 2 6 A (A) F(R) TS e 3,
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: IMPORTANT / gvaqof
Candidates have to do questions 31 to 99 EITHER from Part - Il (Mathematics and Science) OR from
Part - I (Social Studies / Social Science),

witgfefat 1 WeT 31 W90 AT At wpy -y (ofover & T ) v - 11 ( wvitos S [ A
famrT ) & v B : LW
PART - Il / W12 11
MATHEMATICS AND SCIENCE / 7ifora 1 fsm

[Mrection & Ansuer the .l'i.r.ffcru'mg ffieshioms f:r!‘r H_:]'frhj:'g Hie [‘i}&&ﬂpuﬂg[ HFFJT-'PFEH“' apiions.

fador : Freafeared 7ol & S 23 & fon wdt mardt avge ey g

31. Three numbers are in the rabo 2: 3 : 4 and the sum :}f;‘ﬂili_;ir cubes is 33957, What is the sum of the
three numbers 7 'ﬂl:"
(1) 72 (2) 81 (3) 54 (4) 63

A TE 22 4 ¥ 3E 0§ ol e o A 33057 §) 3 A denat w i aan §

1 72 @) 81 ¢ 55 @ 63
P
l nx .
kL
£
32. Three consecutive integers are such that when they afe taken in increasing order and multiplisd
by 3, 5 and 2, respectively, they add up to 99. Whatus the sum of the original first and third

integers 7 =
oo
(1) 20 2y 24 (3 16 (4) 18

A7 T O 58 e T A 3 e gL A A 6 W § A HE: 3, 5 U 2 B W I e
S & A1 T 00 UTE Bl §1 ST Tee an At Uil @ A E

(1) 20 (2} 24 (8} 18 (4) 18
SPACE FOR ROUGH WORK / T8 v % fem, wre

0d5 1585

LSV ITITTI T ’
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33, A studen listed the fallowing properties of Rational Numbers, Which one/ones is/are “ETrect 3
(@) A rational number includes integers,
B) o (210} is not a rational number,
(€) Al fractions are rational numbers, 0
Choose the correct option -
W Ooye 0 wwe @ @ 0
ﬁﬁmﬁ#%mﬁ#mmaﬁmﬁpmﬂ% - w7
(a) ﬁﬁﬁﬁﬂ#ﬂﬂ@hﬂhﬁﬁah' : X0
() ¥ (0) whiry e = 4 (TS

1% :?.m
(1) 0.0285 @) o025, gy
et 1 T A 7 o e el 4

s BN e A
base is 110 cm, Ihvnhmﬁnmﬁmizﬂménpgj

b I o A =R B O s .,
35. ’“ﬁﬁﬁmﬂ'ﬁ' A4 OR =18 cm. In phich ¢ he following cases, APQR can be an

-_E-_- v .




36. Concept was labelled as *Schema’ by :
(1) Bruner () VanHieles  (3) Vygotsky (4) Piaget
SO ST it i % w3 e fin o o

m T @) #ew (3) it (4) frard

3G e 2]

a3 W (A+BC-D) T s x




40.

41.

42,

If x=1.011+10,11-12.101 + 01011, then what should be added to x to get the sum as 117

(1) 0.2211 (2) 11311 (3) 1.9789 (4) 0.3111
R X =1.011+10.11-12:101 +0.1011 #, it x 3 o g1 G, Forerd Ay 1.1 97 7
(1) 0.2211 () 11311 3) 1.9789 (4) 03111

Iti;:-ﬁ?f digit number 94 71 x 9 y 2 is divisible by 72, then which of the following statements is not
e

(1) x=9andy=5 (2) x=3andy=1 (3) x=8andy=5 (4 x=4andy=9
A% 8 — St FOM 947129y 2, 72 & Tawma &, @ F=1 & F i e 4 TE 27
1) x=93fty=5 (2 x=33fty=1 (3 x=83My=5 (4) x=4 3T y=9

One of the factors of ' + x—1) - R

(1) px-—py- a,,,,@r,;f s @ paopytz (@) pepyes
pﬂx+ﬂr-ﬂ*ﬁ?{y+z)—ﬁ' e SR /) i3t

7 W ,(1):;: ﬁ"ﬁm S IIE " xtpy-z  (3) ﬁf:& - @é_} PR tpy+z
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44, A middle schoel mathematics teacher poses the following question to her class.

"Which type of graph would you use to show the following data ?

(@) The heights of participants in an athletics meet

(b) The number of passengers boarding trains from %00 am to %00 pm at a station.”
The intention of the teacher is to -

(1) Teach line graph through contextual situations,

(2) Teach the use of histograms for data representation.

(3} Help learners understand the difference between bar graph and line graph.

(4) Introduce the concept of pie charts.

fazs wre =1 iom 1 U ik s e % A fefefien ww wed #)

" Pt s 1 T & fom sy fem wR & SoTE SR STER 7

(a) Tt Ay wfedmm & wioafen & w2

(b) ol T2 W 9:00 AR F W 9,00 7H A WAl 4w o @il 51w
spanfiy %1 sy § -

(1) E-FenE e i g fwen w10

(2) sl & Fea ¥ fom srgat=s & avgm =1 fe e

(3) ETE-IEE ﬂkm-m#ﬂa#mﬂmnﬁﬁﬁuﬁﬁﬂmmn

3 mimhfr FENE 1 T T

: Iritnanglds AEEMEEEFHEB-?U‘ E=Em£ﬂnwuﬂﬂ=3mﬂﬂm'a:d ZE=9F: Then.
whiﬂhﬁflh!fﬂﬂmmgmmmﬂﬁm?-
il AABC = ADFE, by AAS (2) AABC = AFED, by AAS

AABC = ADEF, by RS (4)  AABC = AFED, by RHS

% ABC &% DEF #: 2B=90°, BC=8 cm, £A=40°, DE=§ em, £F=40° 3 /B =00 3| 7, et
M'#“#Mmﬁi? v
(1) AABC = ADFE, AA _:’iﬁmj,hm“}:g}, AABC = AFED, AAS 21
i .=_H}a¢-ﬂiﬂﬂ‘&éﬂﬁﬁrﬂﬁﬂ nmruaﬁl’ih_: M#-ﬂm RHS &1

2 _ i!lmmﬁﬁﬁmﬂ}ﬂt?
(4 50




47.

. nts :
A class VI mathematics teacher posed the following Pm‘f"'em il 5tudem cm, 85 cm and 95 cm
“In a morning walk, three persons started to . Their steps measur

ver the
respectively. What is the minimum distance each should walk so that all can co same
distance in complete steps ?”

Which of the following concepts would be required to solve the given problem ;
(1) Concept of division

(2) Concept of proportion

(3) Concept of HCF

(4) Concept of LCM _ _

I V1t 0 w5t farfiee 3 argy faenfdi % e Frafatea s @l

‘T FT A A s T e He W § | S S § e w70 ﬁﬁ!’.’
85 2., 3l 05 A3k, #1 T B o m fee g0 = 1% A 7€ g TR Fawl H a4 H

Pt & Fm-wf s fou Ty F T w0 & o sEvas g ?
(1) TEweA F1 sEvmm

(2) TG W EaROT

(3) WHETH WHITENS (HH,) F SEEEm

(4) THTH WEEGE (FH.) F SEEwm .

National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to be
ching. Which among the following are correct in the context of using sports

A

_ Byand (9
3 W3 6 ST &)




49.

Eﬂi

51.

The difference between two supplementary angles is 20°. If the smaller of these angles is p, then
the value of 3p—50° is :

(1) 250° (2) 190° (3) 310° (4) 270°
<1 | I T W 20° ¥ uﬁﬁﬁﬂﬁlﬁﬁmp ®, 1 3p —50° =1 WA ¥ :
(1) 250° (2) 190° Tx(3) 3109 (4) 270°

Teacher conducted an oral assessment irrefass and found that Ram can speak definition of all
types of numbers - odd, even, prime and cgnifiosite accurately, but not able to identify the numbers

accurately when given a set of numbers.
Which of the following is most appropmﬁg the above situation ?
(1) Ram has good memory but lacks ¢ tual understanding.
(2) Ram has analytical ability

(3) Ram has good memory but lacks p
(4) Ram has good memory but lacks concentratmn

Toneres 3 w1 § Hiflaeh STe w1 s e foms 7 wan =e 6 o faww, 9n, s 3 g S
aﬁmﬁmﬁﬁaﬁmﬁuﬁwwmﬁwmmmwﬁmwmaﬁ
Hem F1 HE w9 ° veTE Ad v

it afife % fery et § 8 29 @ Sf-swgm 82

(1) maﬁmvﬁamiﬁwmqﬁaﬁm

(2) T faveruneTs A 2 @oR !

(3) maﬂwmw%mmmau

(4) maﬂmmﬁﬂm%wmﬁﬁil |

Mamemah:szsawayof inking since : ¢y

(a) It pro ortunity for students™to engage in proofs and examining patterns.
(b) Students reproduce formulae and symbals during problem solving.

(c) Students use appmpnate strategies (o1 lvmg various new problems.

Choose ﬂ'lﬁcorrecloptlo (6@

(1) (@and()  (2) Only(b) --1{3)* {a}and*[b} () (b)and (c)
ﬂﬁﬁﬁﬁﬂ%ﬁﬂﬂﬁ[tm 31l g pd sdsitm adp il s 21 02T

(a) e ferenfefdi o1 meadi Tl AT & frdermn # e (o) vad ¥ for s wam e
(b) GwEN FaE & o foendd @A vd ol Q@ d

(408 5(c) ﬁmﬁﬁﬁﬂﬁimﬁﬁrwm#ﬁﬂmﬂﬁﬂ'mwmh

Hﬁﬁﬂiﬂmw%ﬂ. TR e

'-:t@l) (b) 3 (c)

@ im(b) .100(31 (a)ahfb}r
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58,

=567
T varies inversely as y. Whmxhﬁbﬂmy-ll' Wﬁﬂwv&lﬂﬂﬂfyww

(1) 2.1 (3 14 (4) 15 e

. . 1 W 13
"F*WWMW%x-gﬁtmy—uh aar=56E Y :
1) 2za @ 28 o @ 14 (4) 15

LO B

The following table shows the musfer of different fruits kept in & CXTo%
faite | Mangoes | Apples &anﬁm{ﬁaw
Number| 44 | 56 [ 42 | 30 | 38
lfipmduﬂu&hr&ﬂmﬁfm-ﬁﬁaﬁuﬁdnmﬂmwﬂlbeﬁmmﬁﬂéﬂwﬁprmﬁng
’ z " o =t 1 I
g ey s ) o aaae
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The product of two ﬂﬁﬂrﬂlnumhemﬂ;'!—; Ifunenfﬂml:urummhulil -;,_Hm t"4='Erﬁi"‘l""‘:"ﬁ“‘!

L and d 9 9 1
- Vil i gt s e R R E BT B ar ks b A g T AT [ el gl .3

w 5”%*#‘;&&‘#&1#1*@# fr &

' mr 3
. - =J‘FﬂT"'T L '||| i Selai 1
LB/ | @yl |r .‘ =

.- "!H* Hﬂum;"-’ft T e ] '1!'11 + T .t‘ by o slilg 24 i
.F..J |;I E}‘:}"')k]{ﬁ(*ﬂlnlll .I'.:Itl‘l"rul_luj‘ ity “aneids

g ed i aggh
”'TF} T( 1!"?"511?



57,

A student was given the following problem on percentage to solve,

“Find the percentage of decrense if the population of a city decreased from 28,000 to 26,500,"
She wrote the following solution,

Origmal population = 28,000; New population = 26,500

% decreage = %'I 100% = 84.6%

Which of the following is most appropriate with respect to the response of the student ?
(1) Student does not know the cancept of percentage.
(2)  Student has made a careless mustake.

(3) Student is able to understand the concept of percentage bul is not able to understand
percentage of which quantity is to be found,

(4) 'Ebuﬂmﬁunmlwﬂ ﬂh: qﬁeatbmpnmﬂy huthan umdmmgs;mhah m#ﬂluhnﬂ

L |
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39.

A box openied at the top is made of wood of thickness 3 cm. Tis external length, breadth and height

are respectively 148 m, 1.16 m and 83 cm (base = length x breadth), What will be the cost ok
painting its inner surface at ¥ 150 per m? ?

(1) < B41.40 (2) T B42.50 (3) ¥ 83820 (4) ¥ 839.10

S H FA G U T 3 cm WA wd WA ) wwnt o, o aw Fan w0
148 m, 1.16 m 3 83 cm & (3 =i x red) | 309 il ool @ £ 150 wf m2 F T H E
AT 1 A A

(1) T 841.40 (2) T R42.50 (3) T 838.20 (4) ¥ 839,10

Which among the following Leaming-Teaching Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom 7

(a) Geogebra (b) Taylor's abacus (e} Compuler (d) Spreadsheet
Choose the correct oplion :

(1) () and (c) (2) (), (c)and (d) (3) (a)and (b) (4)  (c) and (d)

T i e H gieEnty it ¥ fae Srefetas afom e oo (e 3 e # 8 e JmE
T E7

(a) Toruemm (b) Zem = e (c) TR (d) w=EiE

@ e T

(1) (b) 3T (e) 2) ) (FR(d)  B)  (a) D) (4 (o) #(d)

Which of the following is not a dimensien of assessment of mathematics learning 7
(1) Disposition towards mathematics

(2) Mathematical reasoning

(3) Communication

(4) [Patterns and procedures o

Fretferfaa # A F9-m nftem afiem 5 aeem 51 o 1§72

(1y i & wfe w=5m

(2) TivEE T

(3) T=E _

(4y ufeme (Se) & whe (Fr-fEfE)

SPACE FOR ROUGH WORK / 1% T4 & folt 578

8 T LT TR & 0o




Direction : Ansuwer the following ﬂ"“""’”’”_/ﬂ,—//—
e L. hinis! 7

61.

62.

Which of the following {5 NOT indicative of the h
(1)  Using the senses to gather information
(2) Identifying variables for an experiment

(3) Formulating questions which lead to inquiry
some principle
(4)  Attempting to explain observations or fela relationships in terms of

m.ﬂﬂmmmﬁﬁmﬂﬁ@ﬁﬁf?.
(1) mmmﬁthﬁmmﬂﬂm :
(2) ot i ¥ forg T WEEE FO

£l &) L Ta (5

3 Mw%aﬁwﬂmm e :
4 Fmﬁmimm&“_",;ﬂmmﬁmmm

i 1 -y |I_1||

be true wmﬁ:.thm

{a) : A fact is an observation that has repeatedly been found.
: Ahwmmmmwgmwﬁmﬁmmmm

m Wﬁ U +.HL|1:I.‘I‘.EJIJ1I:I |J htnl (f .i'{m wjlp _|{_| i
m Wﬁ}' H "7 1&‘4*1?{" r-ﬂ'ﬂ -:-.-I-IF'..

|ii
Sy o

e AP U
— vy e correc !




64. A teacher, while teaching the chapter ‘Body Movements’ to class VI students shows the fallowing
images to her students - el

A sailing boat, swimming fish and a flyihg aeroplane. She then asks the students to reflect on the
shape of the images and the manner of mékement. Which of the following are likely to be employed
by students in answering ? oy
(a) Classifying (b)  Observing | (™) () Inductive reasoning (d) Measuring
(1) (c) and (d) 2} f{ajand (d)— (3) {a)and (b) (4) (byand (¢)
ush TorfarE 29 wen vl & fernfudsf wi-ertt & 7' 9= 1eR T FefetEs e G
%1 Y ]
ST Fdl A, T Al ST T IS wAr e | 9 Aquven e w1 aiatas w0 st v i
& wen w whifafam =0 % fou wedt & 390 29 % fo Tl g fre 8§ 9 feme) dwifam =9 9
Fafae femm smam 2
(a) =ITRTO (b) TS (c) HPTRAEEE TETTeT (d) AT
(B () #fit (d) (@) @@ () @b @) ()

3

L g
65. Match the substances in column A wiﬂ'-é-th_{_a.}r chemical names in column B.

(A) B) |y
(a) Slakedlime (i) Caleium u:EE
(b) Table salt (i) Sodium bicar "nutv
(c) Limestone (iif) Calcium carbohate
(d) Caustic soda (iv) Calcium h}fﬂm:::jde
() Quicklime (v} Sodium hydboxide =

(fy Baking soda (vi) Sodium chioridi
(1) (&), (p}-{vi), (e)-(iit), (d)-(v), (e}-(ii), (£)-fiv)
(2)  (@)-{iv) (b)-{v). ()i}, (d)-(i), (e)-{1), {D-{vi)
(3 @), (b)-{vi), ()-{id). (d)-{v). (e]-{i). (F}-{i)
(4)  (a)-(vi), (b)=(ii), (c)(v); (d)-(3). (e)-{iii), {£)-(iv)
whfer A 7 fom T el = v B # fau T S el A e e wi

(A) B
(a) =TT (i) Hfewm SAEES
(b) H@E T (if) . HTEH AR
() VM I (i) FieEER THIE)
(@) wmwE () R o
@ fomgmgn () Afe wgiEEs
(f) T () (vi) WA &

JTT (@), (B1vi), ()i, (1-(v). (e}, Th-Giv)
(B (@), (b)), (L), (d)-(5). ():(1) (E}-(v])
(3)  (@)-{iv), (Bh-{vi). (c)-(ii). (d-(v), fe)-(5), (O-(i)
() (ap(vik (D)), ()-(v), (d)-i), ()t (F-(iv)

T (T 25 0




66. Read the following text :
When a negatively charged rod is brought near an uncharged electroscope,
(a) e electroscope leaves move further apart

(B)  both the electroscope leaves similar charge
(c)  the negative charges pass on to (e electroscope causing its leaves to move further apart
Of the above three statements ;

1) {a), (b) and (c} HIE ﬁh&ﬂﬂhﬂ:ﬂm
(2)  (a), (b) and (c) are inferences

(2)  (a) is an observation while (b) are inferences
(4)  (a) and (b) are observations min.ferenne
Frefefd o w1 ey

mmmﬂaﬂ&ﬁq{ﬂ:)aﬂ%ﬁmﬁmm#ﬁﬁmma
(a) wﬂﬁﬂm;ﬁtﬁm it
(&) ﬂlﬁﬁﬂﬁﬂﬁqﬁlﬂf‘mﬁmﬂmﬂﬁam

(L/ﬂ"lﬁq‘h' ﬂiﬂﬂﬁﬁﬁﬂmm‘mﬁ fﬂtﬁmmﬂrﬂﬁiﬂﬁﬁ & 3
gﬁwﬁ#

W Imibf?ﬁtmmﬁmf L ¥k
@ ﬁ#f"} ) S ¢ | |




68. A box of mass 500 gm is lying on a horizontal table. Which of the following statements TR
regarding the force{s) acting on it 7 [g=10 m/s%)]

(1) A pair of balanced forces acts on it

{2} An unbalanced force of 5 N acts on it in the upward direction
{3} No torce acts on it

{4) An unbalanced force of 5 N acts on it in downward direchon

i (FEpre) He(EEe) T TR v fe (iR W Es (HEf) 500 T E ) wE 0w =
T/ FEl & Han § e | 9 i 6 e W E 7 [g=10 m/s7]

(1) Hfem @ o Uw g () 0 5w e

(2) =ofagd fEm | 39 W5 N = SEgien 9w w1 w0 g

(3) 30 9 HIE T FH T R B

8 e feam § 98 Wo N & sRigian w9 i W 8

63.  Which of the following best explains the statement “science promotes scepticism’ 7
(1) Scientists do not trust the findings of other scientists
(2) Scientists are open-minded and willing o modily their ideas
(3} Scientists judge the validity of a claim based on objective empirical evidence
{(4) Science is purely inductive in nature
Freaferfa o @ 317 4 T 3 o waeers =1 awe 3 &' SUH ) o i 3 7
(1) == g8 (1) St ¥ =ie-ftors v favam w6 s §

/1_11 afn S et At B € aen s T o0 et T v g £

(3) TawAm srgafes A % e w et an w1 Ay 5 siwa £
(4} TEEm vl v w1 A A

70. X and ¥ are thick, black liquids which can be used for metalling the roads. X 18 derived from
petroléeum and Y is derived from coal, Which of the following can X and Y respectively

be ?
(1} Charcoal, Bitumen (2} Coal Tar, Bitumen
{3} Bitumen, Coal Tar Coal Tar, Charcoal

xmvﬂﬂmmtﬁnﬁrﬁmmﬂﬂhmmtﬂwﬁmmmh X W
Y A A = ) Frefefom 4 @ w0 wmowee X 30 Y 9 wEm &2 i) ™

(1) S (), fagin () W, fagia
(3) oz, e (4) IR, RIS (- s

E-I0 (MU 27 &




o

: of gravitation bejy,
71. Which of the following is the most suitable reason behind Newtons theory B
regarded as an excellent theory ?

(1) It has been formulated using the precise language of mathematics
(2)  Ithas been developed over a long period of time

(3) It explains larger number of observations by making fewer assumptions
(4) It has been arrived

at after thorough experimentation

?*W*mﬁwmmm#%ﬁqﬁﬂaﬁﬂamﬁﬁmm

() =5 fers: v st 2 s e g foan e
2 !ﬁﬁmmﬁmamqmg

@) wwwm wﬁwaﬂmﬁwﬁﬁwmmt
(4) mm.?fwiacwmﬁﬂimw%-




73.

Read the following statements carcfully and select the correct option.
S1: Rayon is a synthetic fibre.

52 ; Rayon is made without using any natural raw material.

(1) S1is false and 52 is true (3) Both 51 and 52 are false
(3) Both 51 and S2 are true (4) 51 is true and 52 is false
e el 1 VAT gy qun WA e e e

S1. 'ty o Wi g )

S2: Yo 1 fa faeelt Wt = = R W o wen e

(1) 1w ka2 wE E 2] s1as2ad e E
(3) S1As2 ! () S1EEEa st

gg’ﬂ:ﬂﬂm nfhilmw:ldinmﬂ muuduqﬁﬂw concept of deficiency.
: o docior's. ""‘a’ tion pertaining to a deficiency disease and hold a discussion
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r 75, %mﬂumehﬂnmmmmwwmﬂmﬂm{uﬂmmﬂ:

I
. Column - A Col B
i Unit of force l;::]lg
Symbol of iron HCl
I Farmula of hydrochloric acid Ag
| Uﬁtﬂfm ._||||;I|_.

Chlone
Fe

=
sl - 1 1Tl

MNewton
wing is not a- reason that mnhegtmn to justify that the item is poorly

e gD




¥

e

'{b} Gﬂlé'rﬁjl]rmi'l—mehiﬂ do not react with acids.

- mmﬂam%mﬂﬂﬁwﬁﬁl

Which of the following statements regarding rusting of iron are true ?
(al It involves a chemiral reaction between iran and Oy FETL,

(B) It is an exothermic reaction,

(c) Tt can take place at room temperature.

() Bt 1w reversible reaction.

(1) (a}and (d) {2} (a) (byand (¢} (3 “af. (). (d) (4)  (b)and ()
Frertefim % 31 % 4 % o F o w3 % Ty &7

(a) = e (T8 i siaster & o wEhe %) Wi wwn B

(b) T UE TG A o0
(€) TEHEWH AN (Fre-a) RAFEME ()
(d) = s afafEm £ -]

() @M @ @oeme e Y m @ R

Identify the correct statemenis from the Fullowing -
(a) Eermlly nmvmefalsdunuj:mactmﬁ water,

(1) Both(a)and (b) (2) Neither (a) nor (b}
(3) Onlyfa) i a%@
ﬁwﬂﬁaﬁmﬁruﬂwﬁm

) mmmﬂ%wﬁﬁwaﬂﬁﬁm
(1) (a) TR (b) 5t (2) AT ()

(3) mf‘? I’H.r hﬁ

79, Which of the. fhﬂnwmgﬂﬂ the most suitable Htmbmn'fnupdmﬂng the stadents bo the concept of

farﬂppérwif_uﬂrrhml‘—*

e c ';."l'ﬂfwm-cfeeracmmm lmmﬁcmnﬂwmn
sl a5y ;fmmmﬁmkuludmtatnnl&wt'
e ﬁtqﬂﬁﬂ‘ﬁﬂﬁﬁ'ﬁmﬁﬁ

o '-"'_-"'_-j'mmmmﬁﬁﬁwammﬁmmwﬁmm

I SAEN H
Tl AEERT w0 W

W e

g




88,

Read the following paragraph carefully and select the option which would correctly fill the blanks
i the given order,

=ound is produced by vibration and different musical instruments have specific vibrating parts. [
2_X_ the sound is produced by stretched strings, ina Y it is the stretched membrane thg

vibralesandina 7 he vibrating part that produces sound is the air column.
?{r?ﬂndztﬂnr&ipeﬁhrﬂi}rhe:

1) guitar, tabla, shehnai (2)  ektara, violin, piano

(3) sitar, harmonium, dholak (4)  dholak, ektara, mouth organ
m@ﬁmmmmmmwm%uﬁmﬁhwmﬂﬁaﬁ




IMPORTANT / TgwIqvl

Candidates have to do questions 31 to 90 EITHER from Part - IT (Mathematics and Science) OR from
Part - HT (Sacial Studies / Social Science),

wiaiar @ WeT 31 W 90 AT AT W - [ ( WOrT F FAATT ) AT WOT - 111 { AV e AT/ W
fezTT) & A B

PART - 111 / T - III
SOCIAL STUDIES / SOCIAL SCIENCE - TIMIRS areqge | wrnfus s

Direction : Answer the follouning questions by selecting the correct/most appropriate oplions.
Frder : (Aot W) & 300 o & 1o7] W TN JUgET [aweY gy
31. Read the Assertion (A) and Reason (R) carefully :

Assertion [A) ¢

It was during Shah Jahan's reign that the different elements of Mughal architecture were fused
together in a grand harmenious synthesis.

Keason (R) :
His reign witnessed a huge amount of construction activity especially in Agra and Delhi.

Chuoose the correct aption of the following *
(1)  (A) is true but (R) is false
(2) (A} is false but (R) is true
(3) Both (A) and (R} are true and (R) explains (A)
(1) Both (A) and (R) are true but (R) does not explain (A)
RIEHET (A) T4 THIOT (K) &1 6 H
sfimeT (A)
e & YT 3 A0 T ARgEel F i A U e JET we §
FW (R) :
= 9T 1 e T s we 78, e ey  arw i e d
farctfrfiaa # # W feeey O ;
(1) (a)w & R (R) T
(2) (A) 7T B T (R) W
) i (A) T (R) @ E AU (R), (A) F T 2
(4) ﬂﬁ{.&jqﬂmmfﬁﬁm],[ﬁjﬁﬁﬁmrﬂﬁmm

RS LTI 2 0
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34. Torrid Zone on Earth receives maximum heat as :
(1) the mid-day sun is exactly overhead
{2) rays of the sun are slanting here
(31 it s land locked &P

(4} it is bounded by oceans
el T Ew wieAu A ﬂiﬂmmmmﬂtm
(1) e o Y S gt % s dm
(2) =%l g 1 T foveh ot & —
(3) T TEEG
(4) 9% "EErT | R

35. HKead the assertion (A) and reason (R) carefully :

Assertion (A) :
Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the President

of INC. '5"
Reason (R) :

He was a businessman and publicist setfled in Lcrn:tﬂkirh:l for sometime a member of the British
Parlinment. Pt

Choose the correct option of the following : E

(1) (A) is true but {R} is false e

{2) (A)is false but (R) is true —

(3)  Bath (A) and (R) are true and (R) explains {Ak‘f‘-.
Both (A) and (R) are true but (R) does not explain (A)

(4)

stfursRe (A) 791 0T (R) F1 &0H H 08

R (A)
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36,

Railway network is now extensively being built in mountainous areas. Select the most suitahi,

{1) Mountain people are making railways.
(2) There are advanced technological dweln%ms o enable it

(3)  Itis easy to construct railways in mountzin:
(4) Mountains are highly eroded. =L

0
T & # 3 e 3 e ey 2 e 3 %ﬂﬁmwwmu
(1) el o et = w1 O
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38. Read the assertion (A) and reason (R) carefully :
Assertion (A) :
Tribes have rich and unique cultural traditions including their own language and music etc.
Reason (R) :
Land, forests, grasslands and water arp regarded as the wealth of the entire tribe and everybody

sharos and uses these topgether,
Choose the correct option of the following
(1) (A} is true but (R} is false
(2} (A) is false but (R) is true
(3) Both {A] and (R) are true and (R) explains (A)
(4) Both (A) and (R) are true but (R) dms not explains (A)
ARG (A) T FHAOT(R) F o G v
TG (A) :
ST T T - e, s A S e i W i & g wgs ey e i §
RITUT (R) ¢
=, S, S e A e g e e e S R e i w s an faees we
|
Frefiam o 3 st free =97
1) {A) TE ® T (R) e
(2)  (A) TR R e (R) R :
3)- 2l (A) T (R) TR SR, (A) # s www E
(4)  =HI(A) W (R) 6§ TR (R), (A) ¥ S ol w
39. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) ;
In 1960, the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
speaking people.
Reason (R) :
In 1966, the state of Punjab was als’nd:ﬁded into two States Punjab for Punjabl speakers and

HE.!'_'FE.‘I'JE for an.ranaw or Hindi
Choose the correct option of Hmfnllﬂwing
(1) (A) is true but (R) is false
{z; {ﬂ:liﬂf.ﬁllebut{!t}mtmu
mﬂ{E]mhuemq%l explaing (A)
J Both (A rjmdwﬂehunhﬂi dmnnta:plum {A}
mmwmm}ﬁ m#nﬁ

sfumeT (A) ;
mimrﬁmﬁmmmwﬂﬁtwﬁm e o o At

HAT(R)
1966 mw#ﬁﬂmﬂﬁigmt mmmwwmm wiart = fest e




40. Read the statements (A) and (B} carefully :
{A) £ In 1770, o terrible famine killed ten million people in Bengal
(B) : About one-third of the population was wiped out
Chocse the comrect option of the following :

(1) (A) is true but (B) is false (2) (A} is false but (B) s true
(3)  Both (A) and (B) are true (4) Bath (A) and (B) are false
R (A) R (B) 1 o A 0
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43. The atmosphere is a thin 1a

yor of air surrouncling the Earth. What I'i.L'L‘P."-i the air lo remain arcund
the earth ?

(1)  Rocks and oceans on the earth (2) Gravitational force of moon
(3) Gravitational force of the Earth (4) Heat of the sun
T R A e A el e o appiee e €1 0 g ¥ i e e
(1) 9= = o e (2) e = e W
/LEI-_} T F1 [EEEE W (4) T4 F ==

44. Which of the tollowing statements help in sustainable development, with reference to present day
resource availability ?

(a) Reducing consumption of resources
(b) Increasing resource use
() Recycling resources
(d) Reusing things
Choose the correct options :
(1) (b}, (c). (d) (2)  {a], (&), (d} (3} (@) {c), (d) (4} - (a) (b) (c)
ﬁmﬁ;fmﬁﬁaﬂﬂ-mmﬁqﬂm#mawmtmtmmmﬁm
FE?
(a) HeuS F = F O
_{By—HwET & T F gfe
fc) HEA T T TH
(d) SN P ITEm
{3 B ot e A o e 0
(1) (bl (<) (d) (2)  (a). (b}, (d) (3 () (o) () (4. (a) (b). (c)

45, Which one of the following is not true regarding Hindustan Socialist Republican Association (HSRA),

Choose the correct option |
(1) It was founded in 1928 at Amyitsar in Punjab,

(2)  Members of the HSRA assassinaled Saunders, a police officer,

{3‘} Bhagat Singh and his comrades founded this organisation.

(4) It was founded in 1928 at Firozeshah Kotla in Delhi.

rerzer e Frfser THTHUA (UH0EARE) ¥ it § Fretferfon & 2 oo o o = 87
Fﬁ‘ﬁﬁiﬂﬂﬁ %
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48.

49.

50,

Winds blow dry leaves dow

n [‘hE a . "
(1) Movement of condens REYEREn:. TECRIS A Diow?

ed air,
(2) Movement of Plants and animals

{"} I"]DL'E[I'[EIH 'a. f

122_4 Hg;:im;%t;;:;;?;:;;e;m;m hig; jE;\n'ue-sau,r«a areas,

(1) wEHa =g *5 —_

(2) i o Sfa-sigei =1 ufy, O

(6] < T 92 P 9 i g

(4) FEzE 8T ds= e Qﬁm’rsﬂ-{mﬂ} ,
O

Read the statements (A) and (B) carefully :

(A) : The Veda Samaj was established in Madras in 1864,

(B) : It was inspired by the Arya Samaj.

Choose the correct option :

(1)  (A) is true but (B) is false (2) (A) is false but (B) is true

(3) Both (A) and (B) are true (4) Both (A) and (B) are false

F4A] (A) 991 (B) F1 =H § T2 : 0

(A) : ‘F2 O T T 1864 H wEE ¥ g r—

(B) : &% TS, AR HTS | Ufta @ o

St B T e T U1

A (A) w& & T (B) T | (z;?)w%mm}aﬁh

(3) =HI (A) a91 (B) TE E (4) (A) 7T (B) 7TeTd € |

Choose the statements that explain the Ganga-Brahmaputra Basin in Indian subcontinent.

(a) Coniferous forests grow in this region.
(b)  The Basin lies in sub-tropical region.

() The area is dominated by Monsoon climate.

-

™=

-
s

M) (@) ®) @

(d) The basin area has a varied topography.

Choose the correct option !

@ (a) () (d) ) (@) (b) (©) ) () ©). (d)
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52. mwwwmmmmwgmmmwhﬂWﬂwww
minimum sge approved for marriage, for men

1) 21 yéors and 18 years @ 17 In:l.lfrrnﬂm'
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54. The book ‘Stripurushtulna’ was written by which one ol the following reformer 7

(1) Tarabai Shinde (2) EV.Ramaswamy Naicker (Periyar)
(3 Pandita Ramabai (4) Veerasalingam Pantulu
"ETEE A RTE H Te el A § e gOE g e

(1) v R (2), A, T T (i)

® ﬁfmtﬂﬂﬁ (4) ot e
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58.  Lines drawn on a globe are known as latitudes and longitudes, What purpose do these lines
serve 7

(1) To beautify the globe

(2) They are furrows on earth and indicate physical features of the earth

(3) To make designs on globe

(%)  Tolocate places on earth =il
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(1} Acquired diseases (2) Congenital diseases

(3} Genetic diseases (4] Communicable diseases

3 st o v we R g s A -, i, g s A e 4, 5
(1) =misa st w9 §) (2) S Al s €

(3) SR d we AT s wEh §

61. Which of the following is not a characteristic of continuous comprehensive evaluation 7
(1) [Itincludes an assessment of scholastic as well as co-scholastic aspects of the students growth
(2] It focuses on marks based evaluation of student's wark.
(3) It makes evaluation an integral part of the teaching-leamning process,
(4) It focuses on all-round development of the child's personality,
fr=ferEs # A S5 - 5an A = e F T 6 67
(1) e faendl & Hferr famm & Wy ve-dfs weas & o seen s d
(2) =%t % siw smafE w1 gEEa W EE E
(3} T% JodiEA I TS wfE w5 sl A
jglf'ﬂ'ﬁﬁ'uﬂﬁ#mﬁaa F waEiin fmm e

62. Consider the following Assertion (A) and Reason (R} and choose the correct option -
Assertion (A) :
The disciplines that make up the social science are history, geography, political science and
BCOTIMICS.
Reason (R) :
There js interrelationship between the disciplines.
(1) (A) is true but (R) is false
(2} (A) is false but (R) is true
(3)  Both (A) and (R) are true and (R) explains (A)
{4)  Both (A) and (R) are true bul (R) does nol explains (A)

et st (A) 740 HEOT (R) W P e wl ey o e wifi -
SR (A) : S i
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63,

64,

—

Which is the best method to teach the concept of ‘Tnsolation’ ?

(1) Demonstration (2)  Survey (3) Case study (4) Hml""““m'ming
‘A YT TR %1 wag T i ﬂﬂﬂﬂ%?
() wefq (2) wdam () = ] -

:Eiﬁ; u: the following is most appropriate for reducing curricalar load of Socia| Scing

(a) Mmﬂrmmg the emphasis ¢ mnmmd;iﬂngfmﬂmdfﬂmsﬂﬂmﬂ‘i“h““m

ﬁl] Focusing on conceptual clarity.

ﬁﬂppﬁxgt;fdh]mn h:pim&mnﬂuéﬂthmkhud:mmmﬂimthvm and teacher’s lacks

Choose ﬂl&cmﬂPﬁmT 0 ¥ B s T st _:n;__: "
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gh. While evaluating social science the following questions will help to underst: i its
objectives :

{a) What skills are emphasised in the syllabus ?
(by Is it derived from a standard text or combindtion of texts ?
{c) How detailed is the outline of syllabus ?° _ _
(d) What level of competence is demanded ,;.f‘jé?_mer on each social science skill 7
Choose the correct option :
(1} {a) {b)and (¢} (2) (a), (b) and (d) [3‘5 (a) and (b) (4) (a) and (d)
| Al foa & et & i frefeies v g S Tagd § T w
(a) WEEHH § fHA Bt wowe w00
(b = AT T T e e A e e o e 87
{¢) WrRIEE E] weE T faem 87
g HitpTowel | WA fAE ¥ U Fiee o e o S owme s § 7
T fdHes &1 =5 Sl
(1) @@ @ @O G @ (4)  (a) )

67. Identify the immediate measures which ensufefwomen’s safety and enable them to take up jobs,
support family income and in becoming seli-glaht.
{a) Provision of child-care centres L

(b) Reservation of seats lor women in parlidfftént

(¢} Provision of occupational safety % T
(d) Pick and drop facility for night shifts 0w

Choose the cormect mﬁpﬂnn £

{1} (a), (b) and (d) (2} (a}, (b), (c) and (d)
(3)  (a) (&) and (c) () (a), (c) and (d)
& e 2] ) TE= e A Al B e a5 el w1, wiete am § A e
s Efadi = gl s
(a) =TEENTEA F AR g
(b) e o sl o At A
ey ST A A o0
() T = et () mm-ﬂuﬁmjﬁ
Wi ey w1 e
(1) (a), b} 9 (d) 4 @KM (c) # ()
B) (), (b) 2 (<) (4} (a). (c) 3 (d)
P gy a9 o

e
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68, For teaching which of the following topics, a tree chart would be best suited 7
(1) To teach modern history
(2) Distribution of demographic variables such as age, gender, race etc
(3) To give summary of reign of a ruler
(4) Toillustrate the hierarchy of historical ev in a particular era, such as wars, revolutions o

social movements ™
et 3 & e forva 3 fm % forg -7 i 3 7
(1) enyfer 3foem To & fag Qo

2) mﬂammﬂmﬁaﬁﬁmtm.
(3) VW I w1 AR A )

(4) Wﬁ%ﬂﬂﬁﬁﬁﬁlﬂfﬂﬁ'ﬂﬁ?&ﬂ 'ﬂﬁgﬁ mmmﬂﬁﬂ%wmﬂm
S mrERm

69, MﬁhMWmﬁﬂﬂmﬂlﬂpMMmmﬂylmkﬂ the role of media in
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0.

It is possible that there might be students belonging to marginalised sections in your class. 5o,
when you are talking about the notion of marginalisation, which of the following things should
you keep in mind before introducing the topic ?

(a) Taking names of particular communities might cause discomfort to those belonging to those

communities.

(b) Such issues need to be handled with sensitivity.

(c) Some students might feel shame in talking about their experiences of discrimination.

(d) Students should be forced to share their experiences.

Choose the most appropriate option :

(1) () (b)and(c) (2) (a), (b)and(d) (3) (a)and (b) (4) (a) and (c)

T HYE B o U o F v wem o o €, safe st o e 1w 8§ a1 F T 6
it foo1 S 3 B e Frefrfam § 9§ i S o s T e ?

() ETH HHET T AH T WS TR § g o s HegH F g £

(b) 9 UE & Y I WA § G =

(c) T T AT HI U FSIE B e A H vififer HegE L G £

(d) ferenfeai | S v smvE g e =
B @OCQ 2 @O @) @G @) (@

Consider the following assessment questions (A) and (B) related to the working of the state
government.

(A) : What is the purpose of a press conference ? How is it different from a Legislative Assembly
debate ?

(B) : What is the term used to refer to elected representatives who are not members of the ruling
party and who play the role of questioning govt. decisions ?

Choose the correct option :

(1) Both (A) and (B) test conceptual knowledge,

(2) Both (A) and (B) test factual knowledge.

(3) (A) tests conceptual knowledge whereas (B) tests factual knowledge.

(4) (A) tests factual knowledge whereas (B) tests conceptual knowledge.

T4 WA 1 HEgoNe § Fafvm Fefefan serem ww (A) 7o (B) W &= 51|
(A) : rEaal 1 1 38¥F BNl € 2 T FAEE H € Al qew ¥ fr e s &2
(B) : 57 fogifem wiafaferal & fer foFm e <1 ol & & 1 51 @t 3 wee T8 A aen S 6 See
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72. whfdﬂﬂktﬁmhﬂpdamnﬁuuﬁmﬂﬂmummnalmdum?
! {a) To ensure accountability of the government

| (b} To ensure equal palitical puru:ipnnmbj.rrhe parties

i (e To encourage pobibical debate and public dialogue

() It is a customary practice

; Chl:ﬂi!! ﬁwmrr:ct options :

i (1) (a) (b} and (d) ) (@), (b). () and (&)
() (@) (b and (&) () (). () and (d)
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74, Which of the following is true about sources ?

(a) They are more concrete in nature

(b) They are all historical in nature

(c) They are objective |

(d)  They include accounts of eye witness and personal letters

Choose the correct option :

1) @ Gland() ) () (Qand(d) () @and(d) (4 (a)and (b)
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! 76, n Indian seculatism, the stite maintains a “Principled distance” with respect {0 religion. This

means that -
(4) State could interfere in religious matters on the basis of ideals laid out in the Constitution.

(b) State and religion can interfere in each other’s matters.
(c) State and religion cannot transgress each other's boundaries.
(d) State can regulate religious affairs when need arises.
! Choose the carrect option ¢ . \
| 1l M @@ @ Qui@ O @md®) (b) and (d)
R e , T, 3 e o g g T v A
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1) o), (o) gy

Many workshops and factories located in industrial areas employ casual workers bocause :
(a}) They can hire and fire them according to their convenience.

(B] They save on salaries and other job benefits which are paid to the permanent workers,
(€} Casual workers work long hours withont demanding overtime wages.

{d) Casual workers are more hard wnm as compared to permanent ones,

Choose the correct option | il

(1) (a). (b) and (d) (2l (@), (b), (c) and (d)

(3] (a), (b) and (c) (b}, (c) and (d)
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§2. Thestatemenl, “The Indian Constitution provides safeguards to religious and linguistic minorities
as part of Fundamental Rights' infers that -

(a) it protects minorities against possible cultural domination by the majority.
() it protects minorities from any discrimination by the majority,
(¢} it safeguards minority interests.
(d) it guarantees economic opportunities to minorities,
Choose the correct option ;
(1) (&}, (b} and (d) (2)  (a), (), (<) and (d)
{3 (a), (b) and (c) (4) (b}, (c) and (d)
o, WA HiAE i i v srevvie] 51 o S vaas g S § s 8, 98
STAT T T
(a) E TEHEIFT G VT WiHhE W ¥ g SeE 5 e W
(b) A SEHETHI GF T W ¥ evE A sevder 5 g e b
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B4. At which stage of school education as per NCF 2003, are social science topics independently
introduced to students in textbooks 7
Choose the correct option of the following,

(1) Secondary Stage (2) Higher Secondary Stage

{3) Primary Stage (4) Upper Primary Stage

AT, 2005 F A, T foen & Fn w w gt e % Ed e w9 | TerEs
fernfifai 4 wfitas wom am &7

ﬁﬁﬁiﬁnﬂﬁﬂﬁ'ﬁﬂ;ﬁﬂwaﬂm

(1) wEEE ww (2) I umaAfiE W

@) WAEEER. o AT I s B

85. Following are some queul:.lurm,l’cmmmiﬂ ﬂmt you have received from your students in a class,
Which question reflects the 5tudﬁnt"5 nl:uhr.}r I:n mh;a]ljf Im_k at Lhu issue of poverty and

maqnnhty?
{IJ _Whm will India become developed and get rid of poverty 2
2) %Mwmﬁmmmmam? Wen't it make them lazy ?

{3 Wh?ﬁﬂ:—ﬁlﬁthﬂﬂ-ﬂ'j’tﬂﬁﬂﬂﬂ j:-'_.'_‘cﬂnbﬂthbesem‘att:ﬂﬁmmgmlﬂ-?
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87. The Indian judiciary upholds the rule of law, without any fear or external influence, and maintains
e control over the actions of the Rovernment because of :

(1) Judicial activism

(2)  Democratic values enshrinad in Indian Constitution
(3) Supremacy of judiciary in India

(4)  Independence of judiciary in India

mmmmwmmmﬁwmwﬁmmtamm FwEl W
werEt frefam mem T 4 e s g

(1) s ofFmEs

(2) v wfsm F wirefn dEats g
{3y W =i w5 e

(4) N H =rEwiE w5 =

Teaching of social studies is important at the elementary stage,

ml—m: e st 1 L LD

Tt sensitises the child to social issues and develops in him/her a respect for difference and diversity,
- Choose the correct option from the following ARER
- ) (A)istuebut(R)is false

(2) (A} is false but (R} is true

37" Both (A) and (R) are true and (R) explains (A)
(1) Both (A) and (R) are true but (R) does not explain (A)




89. What is the advantage of field work as a method of social science 7
(1) Helps to memorize facts
(2) Helps in testing knowledge of the students
(3) Provides students first hand knowledge

(4)  Develops skills of presenting, proposing and arguing
AT e 1 T w A A (P ) e o 7

(1) 7 1 7w T | e w g

(2) fenfedt & 3 it TeE wm R

(3) B F A T W F L
'}}J@WHWMEH#Whm%ﬂmﬁmmmﬂn

1:-['-* = TR

2) () Only () (4] (a) and (b)
mﬂmﬂvﬁﬁmmiﬁ?
n%ﬁﬁﬁmﬁﬁﬁh:
eI e 3 fasr 1w w1 .

=TI 1
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt quiget

ons from Part-IV (Q. No. 91-120), if they have opted|
for ENGLISH as LANGUAGE.T only.
C '

A1 Identify ﬁ"'E”é'%"“ﬁ'13'5%“15"5\9'511vnnl? the underlined words.

He pulled the faint yellowish thread ght at the end of it, a tiny drop of nectar appear=d. At
least, that was what I think it was, as it'w s teally quite sweet. That day we raided the ixora
plants, We really had a lot of fun, T codld sl taste the sweemness Hll today. My danghter’s urgent

; Emﬂﬁltmmmrﬂhw,} ed oy :'ﬂﬁl‘-!h. rand decided that she too needed to know
#if-inf.wusimg-mwﬁmw“ ghter and decidod

cajole (3)  appreciate (4)  reprimand
| a0

Pa.gt 2y o take future decisions
<4 toindulge in time travel
o

{2) o feel refreshed

(4) 1o be exhausted



b 96. Complete the word analogy :
cluster : bunch : : puny : _2_
(1)  prickly (2) long-stalked Cﬁ} delicate (4) colourful

97. In para 1, according to the mother it was mﬁ:'gmd idea to
(1) walk in the garden the whole day
(2) walk along the pathway alone
(3) taste sweet nectar from flowers 00

(4) raid the ixora plants 5

98. Read the following sentences : {-E}J
Assertion (A) : :
Theehﬂdmemhﬂmshamaﬂwmtwﬁhhﬁmnﬂiﬁ
Reason (R) :

Thtnmﬂiﬂ'wuﬂmd:sbﬂlﬂfﬂndmmwm
(1) M{A}m[mmmhtmjmmhmmmmﬂﬁm
{2) Euth{ﬁ]aﬂd(ﬂ]mﬂuzm&d{ﬂ}mﬂmmﬂﬂtexplﬂnahmuﬂm
(3) (M) is correct, but (R) is incorrect
% mwmmﬂuw o0

= "_‘_:J'i
“mm“?ﬁ“ *f Wﬂm LA

......

(4) jealousy



J——

101. The phrase, ‘the sun has left the sky" indicates fhat -

(1) it is afternoon
(2) it is evening ime
(3)  itis morning (4)  itis forenoon

102. Idmtif}'ﬂ'_tﬂrhj*ﬁﬂthemin-linmﬁ-ﬂ.
(1) abab (2) aaba (3) abba (4) aabb

103. Why does the poet consider himself to be fortunate ?
(1) He has light at night by his door.
(£) HﬂmmﬂﬂdmthﬁwmmuMmhh
(3)  He has a rich banker father. :
(4)  He doesn’t have to light other peoples’ doors.

1. Read the following sentences: - i g
(a) mpmmwmmwwhh clizisi
(b) mphelmﬁ:' : mlmh::;mwmp

: A

1Tk ] *-mnln.ir' Oaveninier mrated oo
MH:-HH Soartl nd sy oes brmons vl W

iﬂiﬁﬂdﬁﬁﬁhh mwdﬂ"ﬂ koo

et S haypesiigy® irilaTt 1
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108. Procedural knowledge in the teaching-leaming grammar is
(1) knowing the rules of the grammatical item,
(2)  knowing the language and its culture.
(2} knowing how to do the grammatical ftem.
) knowledge about the grammatical item.

103, A learner reads through the news item in the newspaper to know specific information. This
reading is known asg

(1) Scanning (2)  Study skill (3)  Critical reading (4) Skimming

110. A language teacher tells a story in English and asks learners to work in group to tell the story in the
languages known to them and then in the common language of the classroom. What is this
pedagogical strategy known as ?

(1) Multilanguage teaching - (2) Language acquisition
(3) Translanguaging, (4)  Multilingual policy
L - i B
- Shreya is a Class V1 learner who moves from the Jalander in Punjab to Madurai in Tamil Nadu as
father has been transferred. She knows Punjabi as her tongue and English language
her second language in school, She is able to speak and read Taml learning from her
Which ene of the following statements is true based on the languages she now

languages, Punjabi, Tﬂﬂﬂﬁmmﬂlﬁ r  learning
mes under language ﬂl;quﬁiﬂn!ﬁ and ﬁurﬁhf.ﬂ Tamil come under language

:
o ol upl e

A

TT S e 'EU--J. A ] a1

first sentences and the other in the pair writes that
‘whale story, Later : their

e




114. A teacher at the secondary stagre gives a text/shott story and asks them to read and discuss the

115.

116.

117.

meaning and ideas of the text From the point of view of power and justice, What does the teacher
dﬁﬂnptm d.f.'\"l'!ll_‘lp in ﬂ_u.? learmiers 7

(1) Critical language development  (2) Higher order language skills
(3)  Critical literacy skills (4) Critical pedagogy

A method of teaching in which a teacher and four students form a collaborative learning group
with different roles. Dialngueg accur on the content of the text passage, which creates a zone of
proximal development in which reading comprehension improves. This method is referred to as :

(1) Structural Approach {2) Model Reading
(3) Grammar Translation Method (4) Reciprocal Teaching

Remedial teaching is for ;

(1) learners and teachers to understand and modify/ improve their teaching/leaming strategies.
(2) learners and teachers to enhance the scores-in the examination in language paper.

(3)  learners who need attention on certain aspects of language learning,

(4) teachers who need to modify their teaching for certain student (o learn the language.

(1) Leamer's judgment that the knowledge of the native language interferes in the leaming of
.. d = I'*-: I K . .
Sond e e e v ety diferent sbilices

omething in the native language and something in the target

(2)
(3)

(#)

g in the native language and something in the target

! -
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PART -V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they
have opted for ENGLISH as LAE&UAGE—I[ omly.

Read the given passage and answer the gquestions tk follow, (121-128)

1. The loss in earnings that farmess see due to ¢

people to feel the impacts of climate change,
agricultural cutput and adds to food inflation.

fbadpma,mtnm:mﬂd result in peopls
slashing down consumption, which aﬁvmdy '

nutritional securily.

2. A significant number of I"amung.hmmzhuIda’ food for their own ::mmam.ﬁ;:lzln Thesa
households have given hirth to an old saying : ho eat theit own food are the healthiest. In
countries like India, where malnutrition is hig  food insecurity is @ constant, such

households have used the home Eﬂdumﬂnww out of | this erisis.
out, these households are also protected from ma ket fluctuations, thus ensuring that they can
afford healthy food. Obviously, ﬂ-;ey mmtﬂ@ﬂmﬂﬂhﬂﬁﬁﬁmm

weather events or erratic seascriality is, by
of climate change. Farmers were the first

ultimately affects the country’s overall



125, Which statement is incorrect with regard to household food production ?
(1) Women enjoyed normal body mass index
{(2) Iﬂl:rea.-ae in number of malnourished children
(3]  Nutritional intake was heter
(4) Food consumption in such households was higher

126. By which word can the underlined word be replaced fn the given sentence 7
“These trends are more pronounced in remote areas.”

(1) moticeable (2) ignored (3) disregarded  (4) important
127. Identify the parts of speech of the underlined words,
A significant number of farming households produce food for their own consumption.

(1) moun, adjective (2) noun, pronoun
(3] adjective, pronoun (4) adverb, pronoun

p the I11 became a cinematic sensation, how
rian immigrant with a criminal past become good

teri Philip was looking for a nurse. He was
‘successful business man, living a life of




130. Read the sentences given below :
{a}] “Untouchable’ is a French comedy movie,
(b} The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.

(¢} The movie was a huge success in France and Algeria,

(1) (b) and (c) are incorrect, (a) is correct
- (2) (a) and (b} are correct, (€] is incorrect
(3) (4, (1) and (¢) are all incorrect

! 14 {l}md{n}memrreﬁ, (b} is incorrect

1. What bound the two very different men together for years ?
{1} igﬁjmmg ribyml). {2) their immigration status
(3)  their love for adventure sports  (4)  warm friendship

{3) disaster (4) callousness

I T —

d into a close friendship.



138.

139.

140.

141.

142

143,

144,

Which of the following processes involved for learning o write well in a language !

(1} Braiming storming - jotting down points - writing the draft - editing - making an cutine -
f'il'l:j]ir.:ing,

{2) Braining storming - jotling down points - making an outline - writing the draft - editing -
tinalising.

{(3) BTﬂ-il‘liﬂﬂ 5’-":3!‘11'13:!‘13 - making an outline - drafting - jolting down points - editing - fnalizmng.

(#) Braining storming - jotting down points = writing the drafl - making an outline - editing -
finalising.

Which one of the following statements is true of language learning 7

(1) melﬂdgf of the native/ first language supports in the learning of second language.

{2)  First language learning and second language are completaly distinct,

(3)  Knowledge of the native/ first language interferes in the learning of second language.

(4} Enowledge of the native/ first language has nothing to do in the learning of second language.

Elam i a student of class VI1 is able to speak four languages, Kannada, Marathi, Hindi and English.
He uges all the four languages freely when he speaks to his parents at home and in school he uses
Hindi, Kannada and English as these are the language known to his friends and teachers. What is
this practice known as 7

(1) Code-moving {2} Interlanguage

(3} Translingual ability (4] Code-meshing

This refers to the proficiency in academic language or language neaded for various content areas,
(1) Communicative languape proficiency

{2) Cognitive Academic Language Profiviency (CALP)

(9) Inter-language proficiency

(1)  Basic Interpersonal Communication Skills (BICS)

Here is a situation where students were exposed to the oppesite perspective of the subject under
consideration to allow them to further understand it. What does this process attempt to promot:
ameng learners 2

(1) Critical Literacy (2) Literacy development

(3) Critical analysis (4)  Process based pedagogy

A teacher of class VI brought items like spoon, plate, utensils, boxes and to her classroom o
teach vocabulary from there writing a description of objects in kitchen, T’hat are thegs c:-L‘q'ecl:;
known as in language teaching 7 '

(1) Cooking items (2) Real life tasks

(3) Teaching materials {4) Realia

Learrleralna'tiass_ufﬁndalfndﬂme"trj' to capture the main ideas of classroom lecture a
mﬂk&puml‘ufﬂlg‘:lﬂ'd:lﬂ'ﬂ What is this skill hﬂmwn s ? by e
1) Writingskill  (2) Cognitiveskill (3) . Study skill {4)  Listening skill

P-i i
" W 3 0

_-._ e




145. Learning Outcomes attempt to enable leamer to |
(1) attain minimum levels of leaming of all skills.
(2}  attain language components in measurable terms.
(3) attain the grammatical knowledge in measurable terms.
{4)  attain the competencies in measurable terms.

| 146, What is ‘Translanguaging’ ?
L (1) F#‘WMﬂMﬁm}rﬂﬂﬁnmlﬂnﬁuﬁgeurl-!li-DuICEﬂh'tilﬂHHEt‘mrn

ol s ‘on how many languages are o be. taught in a school,
{E:: ;:mimmm&pmm fulglmgelﬂ&l‘mﬂ'm langmage while teaching- Iaarnmg [ﬂnguageg,
refers WWWMEEWHWMGfDME

b}' hﬂr suEE:lng and coura
ge to face the

. 4 MOve on to add at [east
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d Forefinfiar o = gt U O S 3 W /A Seqe fase w ST | (129-135)
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138.

139,

1440,

141.

142,

143,

Tt 5 | FE- i o ) st o § e wied o mima 2

(1) = HeA - e g AR e - W e - wigee - i e - s
(2) WA A - e fag e w5 - w6 R e - e fra - ded - St me i
(3) TEH HE - T A S - W) - qEA fag TR w9 - HueE - sfen e A
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(1) wEwm/ wag v & 7 i s & sfiem = wfds s
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